
Biology – Science Answer Key 
 

Item 
Number 

Item Type TEKS 
Maximum 
Number 
of Points 

Correct 
Answer(s) 

Reporting 
Category 

Readiness 
and 

Supporting 

1 Multiple Choice 5.B.12.B  1 D 5  Supporting 

2 Multiple Choice 4.B.9.B 1 A 4 Supporting 

3 
Short 

Constructed 
Response 

5.B.12.C 2 See Appendix 1.1 5 Readiness 

4 Multiple Choice 1.B.5.B 1 B 1 Supporting 

5 Multiple Choice 2.B.6.E 1 D 2 Readiness 

6 Multipart 5.B.11.B 2 A, C 5 Readiness 

7 Drag and Drop 1.B.4.C 2 

Utilize a capsid 
structure, Contain 
genetic material, 

Have active 
metabolism, 

Replicate 
independently 

See Appendix 1.2 

1 Readiness 

8 Multiple Choice 5.B.12.E 1 C 5 Readiness 

9 Multiple Choice 1.B.4.B 1 B 1 Readiness 

10 Text Entry 2.B.6.F 1 
100 

See Appendix 1.3  
2 Readiness 

11 Drag and Drop 1.B.4.A 2 

Prokaryotic cells, 
Eukaryotic cells, 
Eukaryotic cells, 
Eukaryotic cells 

See Appendix 1.4 

1 Supporting 



12 Multiple Choice 3.B.8.C 1 D 3 Supporting 

13 Drag and Drop 4.B.10.A 2 
endocrine, 
circulatory 

See Appendix 1.5 
4 Readiness 

14 Multiple Choice 5.B.11.A 1 D 5 Supporting 

15 Multiple Choice 3.B.8.B 1 B 3 Readiness 

16 Multiple Choice 4.B.9.A 1 C 4 Readiness 

17 Multiple Choice 1.B.5.A 1 A 1 Readiness 

18 Multiple Choice 4.B.10.B 1 C 4 Readiness 

19 
Short 

Constructed 
Response 

2.B.6.E 2 See Appendix 1.6 2 Readiness 

20 Multiple Choice 3.B.7.E 1 B 3 Readiness 

21 Multiple Choice 4.B.10.A 1 D 4 Readiness 

22 Multiple Choice 1.B.4.B 1 C 1 Readiness 

23 Multiple Choice 2.B.6.B 1 B 2 Supporting 

24 Multiple Choice 1.B.4.C 1 B 1 Readiness 

25 Multiple Choice 5.B.12.D 1 A 5 Supporting 



26 Multiple Choice 2.B.6.G 1 C 2 Supporting 

27 Multiple Choice 3.B.7.B 1 C 3 Supporting 

28 Multiple Choice 4.B.9.C 1 B 4 Supporting 

29 Multiple Choice 2.B.6.C 1 C 2 Supporting 

30 Multiple Choice 5.B.12.A 1 D 5 Readiness 

31 Multiple Choice 1.B.5.C 1 A 1 Supporting 

32 Multiple Choice 2.B.6.A 1 C 2 Readiness 

33 Multiple Choice 5.B.11.B 1 C 5 Readiness 

34 Multiple Choice 3.B.8.A 1 B 3 Supporting 

35 Multiple Choice 4.B.10.C 1 A 4 Supporting 

36 Multiple Choice 3.B.7.A 1 C 3 Readiness 

37 Multiple Choice 1.B.5.A 1 C 1 Readiness 

38 Multiple Choice 3.B.7.D 1 C 3 Supporting 

39 Multipart 4.B.10.B 2 D, B 4 Readiness 



40 Multiple Choice 3.B.7.F 1 A 3 Supporting 

41 Multiple Choice 2.B.6.D 1 B 2 Supporting 

42 Multiple Choice 4.B.9.A 1 D 4 Readiness 

43 Multiple Select 3.B.8.B 2 
A, C 

See Appendix 1.7 
3 Readiness 

44 Multiple Choice 5.B.12.C 1 D 5 Readiness 

45 Multiple Choice 2.B.6.A 1 C 2 Readiness 

 
  



Biology – Science 

Appendix 
1.1 

The student describes and explains one of the following: increase in grasses (because mice consume grasses), 
decrease in snakes (because snakes consume mice), decrease in rabbits (because hawks would prey upon more 
rabbits in the absence of mice as a food source), decrease in lizards (because hawks would prey upon more lizards 
in the absence of mice as a food source), decrease in hawks (because hawks consume mice as a food source), or 
increase in grasshoppers (because grasshoppers compete with mice for the grasses as a food source). 

A food web is shown. 

 

 
   
   

     




Identify and explain ONE effect that the remova l of mice would have on the food web. 

Review the food web carefully. Then enter your answer and your explanation in the box provided. 



1.2

1.3 

A Venn diagram com paring v iruses to bacteria is shown. Which traits apply to each section of t he diagram? 

Move the answ ers to t he correct boxes. 

 
 

 
 

 

 

 
 

 

 
 

 
   

 
 




Achondroplasia is an inherited condition that affects the formation of bone in humans. The allele fo r achondroplasia 
(A) is dominant rn the unaffected allele (a) . 

I f a perso1 who is homozygous dominant has children with a person who is homozygous recess ive, what percentage 
of their childre1 will likel-y- have achondroplasia? 

Enter your answer in the bo><. Your answer must be a whole number. 

I" i)(i 



1.4 

  

Scientists observe the t raits of cells on four m icroscope slides and record their observations in a table. Based on the 
scientists' observat ions, identify the cell type for each m icroscope slide in t he table. 

Move the correct answer to each box. Each answer m ay be used more than once. 

Slide 1 Slide 2 Slide 3 Sl ide 4 

-----------------------------
Prokaryot ic .------------------------------, i. Eukaryot ic_cells _j 

,------------------------------, 
cells 

! __ Eukar yotic _cells _j !_ Eukaryotic_cells _j 
--- -----------------------·--

Are single-celled Reproduce through m itosis 
Have a m em brane-bound 

nucleus 
Have m itochondria 

Have mem brane-bound Are larger than 10 
Have no nucleus Have linear DNA 

organelles m icrometers 

Have fl agella Have endoplasm ic 
Are multice llu lar Have complex structure 

ret icu lum 



1.5 

  

The body somet imes needs to send m essages long d istances by releasing horm ones into the bloodstream. The 
hor mones are t hen carr ied to t he t arget location . 

Which body systems are involved in t his interact ion? 

Move t he cor rect answ er to each box. No t a ll answers w ill be used. 

The !__~-~-~-~~~'.~~-j system releases hormones into t he b loodstream , and the [ __ ~!:_~~~~-~?-~'>'._] system carries t hem t o t he 

ta rget locat ion . 



 •

 •

1.6 

The student identifies that Mutation 2 will have the most significant impact because it would cause a frameshift. 

1.7 

Two mut ations of a genetic sequence are shown. A DNA codon ch art is also shown. 

 

  
   
 
 

 

 

 

Original Sequence: 

3'•TAC CCG ! ATAI GGC CAC-5' 

Mutation 1: 

3'·TAC CCG IAAAI GGC CAC· S' 

Mutation 2: 

3'-TAC CCG!AA IGGC CAC· S' 

 

 

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
   
 
 

Vl/h ich mutat ion would h ave t he MOST significant impact on t he gene product ? 

Vl/hy would t he impact b e so significant ? 

 

 
 


  

Review t he diagram carefully. Then ent er your answer and your explanat ion in t he box prov ided. 



 

A st udent creates a dichotomous key to ident ify birds. 

  

 






 

 
 

 
 




 

 
 

  
 
 



 
 

 


Based on the key, wh ich characteristics are shared by t he red-winged blackbird and the hairy woodpecker? 

Select TWO correct answers. 

Cl Does not have a crest 

0 Is not blue 

Cl Does not have a short beak 

0 Does not have reddish coloration 

O Is not mostly black and whit e 

O Does not have tail feathers wit h dark spots 
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